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QUESTION: 35
What is a Cisco Meraki Technology Partner?

A. Technology partners concentrate on delivering expedited on-site services such as
wireless surveys and VolP infrastructure scoping.

B. Technology partners meet very specific certification requirements and meet target
thresholds within different Cisco Meraki product categories.

C. Technology partners are focused on and specifically trained to implement certain
Cisco Meraki product platforms such as security or wireless.

D. Technology partners are a community of developers that leverage Meraki's APIs to
design custom solutions and applications.

Answer: C

QUESTION: 36
What is the built-in technology on the MR platform that utilizes one-way beacon
advertising to interact with applications?

A. Adaptive Radio Management
B. Radio Resource Management
C. BLE (Bluetooth Low Energy)
D. BeamFlex

Answer: C

Explanation:
https://meraki.cisco.com/blog/2015/01/the-benefits-of-integrated-access-point-beacon-
technology/

QUESTION: 37
What are two ways that the MX security appliance achieve automatic failover and high
availability? (Choose two.)

A. Survivable Remote Site Telephony

B. warm spare (using VRRP)

C. dual redundant uplink support (multiple ISPs)
D. always on (availability groups)



E. redundant gateways (using HSRP)

Answer: B, C

Explanation:
https://meraki.cisco.com/technologies/failover-and-ha

QUESTION: 38
What are the primary functions of the Network Topology feature in the Meraki
Dashboard?

A. It is a diagramming and vector graphics application that consolidates Cisco Meraki-
only devices into a summary document.

B. It compiles a report presenting a variety of statistics broken out across product-
specific sections based on the current network.

C. It provides an intelligent mapping of physical links, dynamic device searching, and
overall usage statistics and health status.

D. It provides administrators optimization recommendations based on what has been
detected in the existing topology.

Answer: C

Explanation:
https://meraki.cisco.com/technologies/topology

QUESTION: 39
Which statement correctly defines how Cisco Meraki devices behave should they not be
able to contact the Meraki Cloud server?

A. The devices may be re-initiated into a backup mode if an administrator manually
intervenes using a direct, local connection.

B. The network devices attempt to establish a connection to a locally hosted database
server that has been configured for high availability.

C. The network stops passing traffic across all devices and then interlaces including any
connected non-Cisco Meraki devices

D. The network devices continue to function normally (traffic flows at full line rate), but
management and configuration functions are interrupted



Answer: D

QUESTION: 40
What is Meraki's core vision and value proposition?

A. To shape the future of the Internet by creating opportunity for investors and
ecosystem partners.

B. To lead in the invention and development of the industry's most advanced
information technologies.

C. To operate in increasingly mobile, modern networks by delivering preventative
protection without compromising performance

D. To provide a complete cloud managed IT solution through simplifying powerful
technology.

Answer: C
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